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100042 | @WABE | AEE H{XhA IXERNE H=2500m3% % V@2t | 100K B 0.71 0.6359 /1007
102052 | WABE | AEE HAXhA IFERNE H=2500m 1 £ 5000m 5 \orm@E2t | 100K %Y 2.36 21195 |t/100%
100062 | WABE | AEE H{XhA IXERNE H=5000m L 7500m 5 Vv rEm@2t | 100K B 5 65 50868 /1007
10007-2 | WABE | AEE HAXhA IXERNE H=7500mL £ \orm@2t | 100K B 754 67824 |1/100%
100082 | WABE | AEE JOBNE (EENE) b9 E@2t | 100m HY 0.10 0. 0600 t/100m2
10209-2 BB E NEE TOEARTE (XFHE) MyhEE2t 100m HY 0.20 0.1200 |t/100m2
102102 BAmE | AEE HowmE H=200cmp 5t b E2t 104 24y 0.14 0.1274 t/10%
102112 #AEE | AES £ENE H=1500m3k by EEL 100m 24y 0.58 0.3500 t/100m
10212-2 | #ABE | AERM EENE H=1500mB0_E 3000m3k b E2t 100m 24 1) 1.13 0.6800 t/100m
102132 #AEmE | AES £ENE H=1500m3k borEE2t | 100N %Y 0.58 0.3500 t/100m2
102142 #ABE | AR EENE H=150cm 51t 300cm3k bormE2L | 100 Y 1.13 0.6800 t/100m2
T " — AT 5 A - AU UT -
10215-2 #AEE | AEE hEEnE 3277;;3 S A-b7 bSypEm2t | 100nT Y 0.30 0.1800 't/100m2
103012 #AEE | AEE SAEANE (R3HE)  AEE C=60cmsk b9 E2t 104 24y 0.82 0.4913 t/10%
10002-2 | #AEE = AEM SAEANE (238D AEH 0=60cm51_E 120cmsks b2t 10% 2y 1.70 1.0205 t/10%
103032 #AEE | AEE SAEANE (K3HE)  AEE 0=120cmBE 180cm3k & b E2t 104 24y 2.79 1.6749 t/10%
10004-2 | #ABE @ AEM SAEANE (238D AEH C=180cmBL_E 2400m3k b2t 10% 2y 3.74 2.2457 t/10%
5 B BATE HRE SABREE (E3WE) #HE C=30cm it byhEE2t 10K HyY 0.13) 0.0765 |t/104
5 Bl BARBIE HEkHE SARETE (EFHTE) HE C=30cmLL £ 60cmkis MyhEE2t 104 HY (0. 20) 0.1207 |t/10&
5 B BATE HRE SABREE (E3WE) HE C=60cmiL_E90cmk i byhEE2t 10K HyY 0.22) 0.1340 t/104&
5 Bl BARBIE HEkE SAREE (EEHTE) s €=90cmLL £ 120cmki# MyhEE2t 104 HY (0. 25) 0.1475 [t/10&
103052 BANE @SB SASENE (E3HE)  HHH 0=120cmB1E 180cm3k & b E2t 104 24y 0.34 0.2061 /10
103062 BANE @ GBS SAENE (EIHE)  HBH C=180cmBL_E 2400m3k b2t 10% 2y 0.40 0.2381 t/10%
5 B BATE HERE BAEATE (XFWE) HHE C=30cm i byhEE2t 10K HyY (0. 43) 0.2551 |t/104&
5 Bl BARBIE HERE SAEATE (XFHE) HEE C=30cmLL £ 60cmkis MyhEE2t 104K HY (0. 67) 0.4022 |t/10&
5 B BATE HERE BAEATE (XFWE) HHE 0=60cmiL_E90cmk i MyhEE2t 10K HyY 0.74) 0.4468 t/104
5 Bl HBARBIE HERE SAEATE (XFHE) HEE €=90cmLL £ 120cmki# MyhEE2t 104K HY (0.82) 0.4917 [t/10&K
105072 BABE | B SAEKNE (RSNF) A 0=120cmBE 180cm3k & b E2t 104 24y 1.14 0.6869 /10
103082 BANE @SB SARKNE (KBHE)  HHEH C=180cmBL_E 2400m3k b9 2t 10% 2y 1.32 0.7938 t/10%
od0o-2 | mAmE | ame SESIOEOST . o H=60cmsk % bhEEt | 100 %y 0.88 0.5280 | t/100m2
10402 mAmE | AEE A aELE H=60cm51_E 150cmsks b5orEE2t | 100N %Y 1.60 0.9600 t/100m2
104032 | BAEE | A q’(;’;ﬁfg%;gm Bz ai) H=1500mB0_E 3000m3k bSyrmmt | 100N 4 2.80 1.6800 |t/100m2
£ N i
104042 | BAEE | A ja;g;gﬁ;g%gggg) H=100cm L £ 300cm3k b9 B2t 108 2y 0.09 0.0661 t/10%%
10405-2  giAEE | aEs 2277 EU9mhRE H=300cmisl_E500cmsk b590 % A2t 108 %y 0.39 0.2939 t/10%
arsE 17 GAEDYBEONEEST) ! fdds : :
10406-2 | AR | AEE ji;;;;%;;%%%gg@ H=500cm11 - 700cmsk bovh Lt 10 2y 1.09 0.8164 t/10%%
- EAUEHEE o — "
10501-2 | mAEE | B Eiﬁ%éfﬂ" EEEan) AW C=60cmsk b9 E2t 10& %y 0.53 0.3968 t/10%
_ 4 S i sy | 12) aa %E _ . s =y hAE S sl
105022 BOREE B N e sty A 0=60cm51_E 120cmski b2t 10% 2y 1.42 1.0648 't/10%
. . | EALIEOTE _ R . - pas o
10503-2 | BAEE | B Qﬁfémgﬁgﬁﬁfﬁm S 0=1200mB1E 180cm3k & b E2t 104 24y 3.53 2.6451 t/10%
o L EAUBHEE W : oo "
105042 mRmE  aEE FAUEORE. et @S 0=180cmB_E 2400mk b E2t 104 24y 7.04 5.9515 /10
_ 1 . EAUEEOTE KBRBREEDEFEEET _ . . w
105052 BOREE  aE Ny C=60cmsk % by EsmL 10% 2y 0.16 0.1488 t/10%
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10506-2  MAME | AEE et KR ENWERST C=600mi L 1200msk % \orEm2t | 10K %Y 0.43 0.4792 t/10%
P R — EAUROTE BHEROEREET — : A "
10507-2 AT E INEL zgﬁfggtﬂﬁﬁgﬁigggn ﬁﬁ@ﬁq C=120cmpL_E 180cmk & My EaE2t 104K Y 1.06 1.0581 |t/10Z&
10508-2  mAmE | AEE Cpome i BRIEOIMERST 0=1800mb_E 2400msk b0 2t 10& %y 2.38 2.1426 |t/10%
10509-2  pAmE | aEE PAdeoRr KRIEOITHERET C=60cmsk 7 \orEE2t | 10K %Y 0.26 0.2480 |t/10%
T BAUEHTE BHEEDI~SHEEET — : I "
10510-2 BARIE NEL:f Tﬁgé%%&)ﬁ’gfggi) . "-;;g*f#i C=60cmLL_E 120cmk i# My EIE2t 104K HY 0.71 0.7986 t/104
Y — S BAUEOTE BHERDI~GHEEET — : "
10511-2 AT E INEL 7;%?‘2@]%&’@?%%@ ﬁ@;ﬁﬁsi C=120cmLL_E 180cmk & My EaE2t 104K Y 1.76 1.7634 [t/10&
P— BAUEHTE BHEEDI~SHEEET — : s "
105122 giAEE | AEE zgﬁém%g;ﬁiégi) =45 0=180cmb_E 2400msk 7% bv) Bt 104 2y 3.97 3.5709 /104
105132 WANE | EBE Cmomotemesat)  SH 0=60om3k % b9 2t 10& %y 0.26 0.1984 /105
10514-2 BIABE | HEE FADEORT e C=60cmb1 £ 1200mi% \SEE 10K %Y 0.73 0.5511 /10K
10515-2 BARTE AR %gg%g%gﬁﬁ &) A C=120cmpL_E 180cmk & My EaE2t 104K Y 2.30 1.7280 |t/10Z&
10516-2  BIABE | MBS FARSORT e C=1800m L £ 24005k % \SvEE 10K %Y 4.39 3.2917 /10K
105172 BAmE | e Faaede BESEOIEEEET C=60cmsk \rEEt | 10K %y 0.08 0.0794 |t/10%
10518-2  BAmE | e Faaeode BEIEOIHEEST C=60cmb. £ 1200mK5% \SEE 10K %Y 0.22 0.2480 /10K
10519-2 BAmE | e Faaeode BEIEDOIEEEET C=1200m L £ 180cn5k % \SvEE 10K %y 0.69 0.5832 /10K
105202 BiAmE | e Fadeode BESEOIHEEST C=1800m L £ 24005k % \EE  10A %Y 1.32 0.6888 /10K
T mrme | wmm BAUZOHE BHEEDI~SHEEET — e »
10521-2 AR E gt 723?“3?*”’“?%2” : ﬁg%]qu;i C=60cmk i byhE @2t 104 4y 0.13 0.1323 |t/104&
. Bl = e +. -f J]E ﬁ:‘gi ::‘15\\ Ea) ~ %I Ex T _ o + = - s
10522-2 AR E gt Eiﬁgé%%m’?ggm : ﬁéiﬁfﬂsg C=60cmiA Lk 120cmsk i byhE @2t 104 4y 0.37 0.4133 |t/104&
| mrmz | mmm BAUEOIE BREERDI~GEREEZC 1200 ; B »
10523-2 BARTE AR (;%%oig%&)@?ggin . ﬁgiﬁiﬁﬁi C=120cmLL_E 180cmk & My EaE2t 104K Y 1.15 0.9720 t/10K
_ L B pre +. _lél_ o ﬁi fi ENI~SHEIEEET _ . - = A s
10524-2 BARTE AR (REQYZOETERD) HBRE C=180cmLL_E240cmk & My EaE2t 104K Y 2.19 1.4813 [t/10&K
40101-2 PRE RIBRRE My EIE2t 100m2 H Y 0.07 0.0318 t/100m2
40102-2 FRE FMNYBRE %&%ﬁ%@ﬁﬁﬁ@ My EaE2t 1000m2 &Y 1.21 0.5426 t/1000m2
40103-2 BRE B - 7 00 BE H=200cmsk V5y)&B2t | 100m2 4 0.03 0.0113 t/100m2
40104-2 BRE B - 7 00 BE H=200cmL £ t5y)&B2t | 100m2 4 0.03 0.0113 t/100m2
40201-2 PRE HHRE BEk %%é%ﬁ?ﬂ‘iﬁi} My EIE2t 1000m2 &Y 1.21 0.5426 t/1000m2
40202-2 B WHIRE b h AN R (KR R X'é'gg’“ Hod - EHET b5yh%sm2t | 1000m2 244 1.21 0.5426 t/1000m2
40203-2 B BRIRE b AN R MR RS 4 ogs,) RS0 BR CEEEC ypasmar 1000m2 %Y 1.21 0.5426 |t/1000m2
102042 pE WHRE BHX AE O—JRBER A BMEL | byE# | 1000m2 XY .21 0.5426 |t/1000m2
40205-2 B WIRE MRS AR N R 3%;%"’ U—E7  Xigl20cm bSyhEE2t | 1000m2 L) 1.67 0.5000 | £/1000m2
501012 %1% - MRS B T £ - ERET V97 %BA-4 5t 1000m2 4 Y 6 53 14,3688 £/1000m2
50102-2  fhi% - IRHR% Bl AE £ - ERET V590 EBA4 5t 1000m2 % Y 6.53 14,3688 |t/1000m2
50201-2  fhi% - BRI BAKIE EE C=60cmsk by ERA4 5t 10K %Y 061 0.6735 |t/10%
50202-2  fhi% - IR BAKIE EE 0=60cmizA £ 120om5i by ERA4 5t 10K 2 3.21 35922 |t/10
50203-2 @ 1%R - BRR%E BARKE ZEm|m C=120cmLA £ 180cmk i byhEE4-4. 5t 104K HY 8.27 9.0927 t/104
50204-2 @ 1%ER - BRRE BARKE ZEm| C=180cmLA £ 240cmk i byhEE4-4. 5t 104K HY 16. 33 17.9608 t/104
50205-2 @ 1%R - BRRE BARKE Tih C=60cm=ki# byhEE4-4. 5t 104K Y 0. 61 0.6735 t/104
50206-2 @ 1%ER - BRR%E BARKE Tih C=60cmLL_E120cmsk i byhEE4-4. 5t 104K HY 3.27 3.5922 t/104
50207-2 @ %R - BRIRE BARKE Tih C=120cmLA £ 180cmk i byhEE4-4. 5t 104K Y 8.27 9.0927 t/104
50208-2 @ 1%E - BRR%E BARKE Tih C=180cmLA £ 240cmk i byhEE4-4. 5t 104K HY 16. 33 17.9608 t/104
50301-2 %R - BRR%E iR s C=60cmk i My EIE2t 104K HY 0.22 0.1122 t/104K
50302-2 %R - BRIRE R s C=60cmiL My EIE2t 104K HY 0.67 0.3400 t/104
50303-2 %R - BRRE MR i C=60cmk i My EIE2t 104K HY 0.22 0.1122 t/104K
50304-2 @ 1%ER - BRIRE MR T C=60cmiL My EIE2t 104K HY 0.67 0.3400 t/104
50401-2 %% - BRR%E B R {& R H=150cmzk % byhEE4-4. 5t 1004 H Y 0.08 0.0674 t/1004
50402-2 %R - BRIRE FE KRR H=150cmLA £ 300cmk i byhEE4-4. 5t 1004 H Y 0.37 0.3036 t/1004
50403-2 %R - BRIRE FaoFy bOEER H=100cmLA £ 300cmk i byhEE4-4. 5t 108 &Y 0.17 0.1815 t/10%
50404-2 @ 1%ER - BRIRE FaoFy bOEER H=300cmLA £ 500cmk i byhEE4-4. 5t 108 Y 0. 61 0.6735 t/10%
50405-2 @ 1%R - BRRE FaoFy bOEER H=500cmLA £ 700cmk i byhEE4-4. 5t 108 &Y 1.79 1.9635 t/10%k
50501-2 @ %R - BRR%E BEARBR C=60cm=ki# byhEE4-4. 5t 104K HY 1.86 1.3960 t/104&
50502-2 %R - BRRE BEARBR C=60cmLL_E120cmk i byhEE4-4. 5t 104K HY 1.22 5.4165 t/104
50503-2 @ {%R - BRR%E BEARBR C=120cmLA £ 150cmk i byhEE4-4. 5t 104K HY 8.25 6.1890 t/104
50504-2 @ 1%ER - BRIRE BEARBR C=150cmLA £ 180cmk i byhEE4-4. 5t 104K Y 8.99 6.7430 t/104
50505-2 @ %R - BRRE FE KRR H=150cm=k % byhEE4-4. 5t 1004 H Y 0.43 0.3256 /1004
50506-2 @ {%EE - BRRE FE KRR H=150cmLA £ 300cmk i byhEE4-4. 5t 1004 H Y 0.94 0.7016 t/1004
50507-2 @ 1%ER - BRIR%E FaoFy bIBIER H=100cmLA £ 300cmk i byhEE4-4. 5t 108 H#Y 0.23 0.1745 t/10%
50508-2 %R - BRR%E FaoFy bIKER H=300cmLA £ 500cmk i byhEE4-4. 5t 108 Y 1.38 1.0338 t/10%k
50509-2 %R - BRiR%E FaoFy bOBRIER H=500cmLA £ 700cmk i byhEE4-4. 5t 108 2 Y 3.43 2.5730 t/10%




